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Note:- Questions from 1 to 25 carry equal mark of 1 each and from 26 to 30 carry equal

mark of 2 each.
b!/Tﬁ velocity of an object can be changed by

el g 7 AT FT T AT ST WHAT
27
(A) Changing the speed
(wfF A ofEd )
(B) Changing the direction of motion
(arfar it frem & ufad 9)
(C) Changing both the speed and direction
of motion

(et e Fromy T A ok )
LT Al (a), (b) and (c) are true

2. Jif case of a moving body

fsfier aeq 1 fRafa 7

(A) Distance > Displacement
(Tt > faeaT)

(B) Distance <Displacement
(7 < Foeara)

&) Distance >Displacement
(7 > FreareA)

(D) Distance < Displacement

(F < FreamT)

\A{\ boy is standing in front of a plane mirror

at a distance of 5 m from it. What is the
distance  between the boy and his

image?

VAR &

wmmﬁw%mﬁmstﬁaﬁ
oft w2 @z &1 e o gl afd & At A
Zh 7 37

(A)Sm
(B)2.5m
10 m

(D) none of these
/When a ray of light falls on an object, it

may be :
77 e i Fr PRt e T asd g, A A3
UGG I

(A) Absorbed (3raaiTtua)
(B) Transmitted fd)
(C) Reflected (FRTad)

(2T All of them

5/ Light travels from a rarer to a denser
medium it will have.

ST U TRt T & T A A

(A) Increased velocity (77 ¥ g)
(B) Decreased velocity (37 H FHT)
(C) Decreased wavelength
(T E54 § )
\gz)/Both (b) and (c) (FT () 3 (+F1)
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/‘,6'. You are given three media A, B and C of
refractive index 1.33, 1.65 and 1.46. The
medium in which the light will travel fastest
is:

STTHT ATaATT 1,33, 1.65 A7 1,46 F &
AT A, B ofiw ¢ Bo 8 73 grew
st serror w03 st 3 & e
AT A
(B) B
(©)C

D) Equalin AB & C

/’7/. When we insert a coin to a glass half filled
3 with water then coin appears as raised
slightly which is due to?

ST ZH G F ey o e oo g

(A) Reflection (UTI’CI?&T)
BT Refraction (FTFAT)
(C) Dispersion @QUUD

/ ) Scattering (Q?fﬁuf:f)

”Which of the following statements
regarding melting point and freezing point
of a substance is true?
2t w214 F AT A BT F ey
Rafafaa & g 59 a1 97 797 20

(A) Melting point of a substance is more
than its freezing point.

AToF 21T 2)

(B) Melting point of a substance is less
than its freezing point.

(T T2 %71 AT TEE e
7 ZTAT )

\MMelting point and freezing point of a
substance are same numerically.
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(D) None of these.
&1 A B T8

9. Ice is floating on water in a beaker when ice
completely melts then level of water in
beaker:

e FRT 7 A I T A T 8 I AR
Tf avg forwer AR & AT A # a7
CTREE

(A) Increases (92 STTdT ?})
(B) Decreases (92 Sl &)

2f Remains the same (AT 24T &)
(D) First increases then decreases

10. Which of the following factors do not
affect the rate of evaporation —
fraffas & & =9 a7 == -
TIvfET £ & F a8 e
% -
L&(ﬁpth of liquid ( F7< £ TgerE)
(B) Humidity of surrounding ait
(T Yz Y )
(C) Temperature of liquid
(A% FT AT9HT)

(D) Surface of liquid (AT $¥ a7)

LY. During summer water kept in earthen pot
becomes cool because of the phenomena —

AT =g # ) & 2749 % 7@ oy R
FTOT A 52T 21 AT -

(A) Diffusion (THTT)

(B) Transpiration (AToqT<q )

(C) Osmosis (AT=mITA)
\}D)”Evaporation (@rediFTom)

2 I ?{l g o




12. Which of the following phenomena of
x light are involved in the formation of a
rainbow?
TREAT F Frator & warer i Frerfrfe &
A AT AT enfirer 2y 30

&’){eﬂ'action. dispersion and total

internal reflection (3rmad, [dayur &~
Tt wafvd wiad)

(B) Refraction, dispersion and internal
reflection (AT, FaTe AT AATLH
BNERE)

(C) Dispersion, scattering and total
internal reflection (fA&QUT, i X
ot gt W)

(D) Reflection, refraction and dispersion
(TR, AT A faamu)

o
13. Which of the following non-metal is

“iquid?
frofertaa 7 § #19 =97 4 a7 27
(A) Oxygen (SHTFETSI)

(B) lodine (JT4TETA)
(C) Hydrogen (2TS3191)
\/QD/) Bromine (ATHT)

14, Alloys are homogeneous mixtures of a

5 \/ metal with a metal or non-metal. Which

& among the following alloys contain non-
metal as one of its constituents?

firoqyra Toelt o %7 Foreft orrq AT auTq
Arg gATAE g 218§ fafata aa
frar Fergomq & U7 T2 & =9 H qUTq

\,(A/)Amalgam (AHTH)
(B) Steel (%17)
(C) Bronze (F7¢7)
(D) Brass (fram)
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15. Which component of blood transports,

\_//carbon dioxide, and nitrogenous wastes in
dissolved form?
3 1 BN U1 T BT SEHARIES
AR AR gl o) gferd ¥
o rriafe Fr 82
MBC (A1)
Plasma (“TTSHT)
(C) Platelets (IZeZH)

(D) WBC (374411

16. Which of the following phenomena

contributes significantly to the reddish
\ ppearance of the sun at sunrise or sunset?

Frerfarfim § & A1 4T 227 gA=g 1T
Ate F T g % A fae F wge
(A) Scattering of light (STTET FT TITI)
(B) Total internal reflection of light
(STTST T o AT ORTaH)
L,(Z)/Dispersion of light (ST&Ter 71 fagram)
(D) Reflection of light from the earth

(74T T TS FT UREc)
Mrtia is that property of a body by virtue
of which the body is :

(A) Unable to change by itself the state of

rest
(fovrm &7 fafy T w9 a@ew &
aTHY)

(B) Unable to change by itself the state of

uniform motion

(T i A Pt @ @ amew
T qTw)
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(€) Unable to change by itself the direction

of motion

(R A Frorm agery ¥ ored)

Mnablc to change by itself the state of

rest and of uniform linear motion
(R Ht Ry sl v s ofy
" Tt g5ed ¥ yrd)
l§/"A man is at rest in the middle of a pond on
j perfectly smooth ice. He can get himself to
the shore by making use of Newton's
U ATTH 1T F i § e Bt %
U7 ATOH LT Bl AZ LT & aH &
(A) First law (9g=T fom)
(B) Second law (AT fam)
\(2f Third law (e Fram)

(D) All the laws (a+T Fzm)

%n which of the following cases the net force
y is not zero?

fRrefertam & & fh fRafa § 7w e i 2
(A) A kite skillfully held stationary in the
sky
(TF AT FAAAT AT {RAT At

e

AR
\/(,B’{; ball freely falling from a height

(FATE T T3A7 =7 § (At 22 7% 1)

(C) An aeroplane rising upward at an angle
of 45° with the horizontal with a
constant speed
(v ZATE TN UE 7 wid % A
AR o 45° F FAoT T T AT AT AR
e

(D) A cork floating on the surface of water

(7T FY g T ATAT AT UF Bl

20, A/man is climbing a staircase. The energy
”//he uses does not depends upon
TT"TTWTWT%WWWﬁ‘hﬁW
g
(A) The height of the staircase
GIERIERIE)
(B) The weight of his body (

") The time taken to reach the top
(ofTF o = # T )
(D) The mass of his body
(3 o7 T FeAHT)

}/Potential energy of your body is minimum

when :
EER

(A) You are standing (3T &3 )
Vé()You lie down on floor (AT <Y 7% 7<)
(C) You are sitting on chair
(T FH A5 Q)
(D) Sitting on the ground (ST % 3Z4T)
22. Gravitational force is a:
| A) Short range force (F7 ZLT FT 7¢)
(B) Long range force (T 32T & &1=1)
‘,QC{Medium range force (¥ T ¥ a)

(D) Does not depend on distance between
the two bodies (T =T % = it g
77 it 72 F7aT 8)
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23;/'ch balloon stops rising up beyond a

C/ particular height when the density of gas
inside the balloon:

EEEICINRGENLRCEERUURRIRE R

B el § 48 TeATE F AT T T A ZAT

&,
G-

cheeds the density of air outside

(ATET ZAT ¥ A & ATAF )
\/{)equals the density of air
(FaT ¥ T F AT E)
(C) becomes less than the density of air
(AT F AT 7R AT )
(D) none of the above
(g & A T
24 The cells are joined in parallel to get the
\’/\ maximum current when:
STATAT & AT AT 8 T4
(A) External resistance is very large as

compared to the total  internal
resistance
(et At R i T ¥ argdt
fATy 78T 73T 3)

(B) Internal resistance is very large as

compared to the external resistance
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@rzf afai & 3T FAAE
TfaT1y agA A2 2)

mcrnal resistance  and external

resistance are equal
a7 %)
(D) EMF of each cell is very large

25. A cell, an ammeter and a voltmeter are all

connected in series. The ammeter reads a
current 1 and the voltmeter 2 potential

difference V. If a torch bulb is connected

across the voltmeter, then.

e RvaieR v TEAT 21 9 O 2
e AT & (=T F 8, ATl
(A) Both Iand V will increase (I iz v ATl

N

aZ)
(B) Both I and V will decrease (I qT Vv
(C) 1 will increase but V will decrease (192

AT #A R VS SATUAT)

1 will decrease but V will increase (I

T A V FZ)
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26. What is l-lallmurking'z } (m&-{d’ "’J\Md"

B‘WT%’TW%" 1§ o \)UKL‘\‘(&;"‘W o

ft:- B e 4mm~---w..-.'.c& _____ W Dove . 9u LR j_nrﬁqmazﬁ_": ______ 9 B{Pwdﬂo‘ .......
S Cow: _pold) oo abedd ik punily . enanelachnen,
oold md%a{ ?*‘:e(&"t_,_A_Q(.QL_LQ_____?;[_MLA_{\M:_%F_L ung . ete . Tt c EISEEE L"}l" Qs Hoar' ged
o1 J0md 34 K,

2 7 < - i g i
27. Where can a common person get information on hallmarking?

BIAHISTT B Ts R o HTEH! &1 Tl | firel Fepat 29
i Uy T B_I_S.____-__Qrvfzblf_g’,g“w o2 oon dowonleed % §

L Y
/o v \

Vo) \mlmuwy«j }191(?7 stoye.,

28. Ifa gold ornament has gold of 20 carats then what is the purity % of the gold used in the ornament?

afe U €1 & SMyuo 8§ 20 e 1IN @ M1 H T W B gl % 1 22
g3 33 -

X £

29. Aluminium is used for making cooking utensils. Which of the properties of aluminium are

responsible for the same?

UGAfTH &1 IUUNT WHT 96T & §cfH 91 3 a1 o1 ¥ vegeifas & a1 3 o g

forg IeRerd 87 e

Tt bood . Conducler..of heat Mteshrmyea

o Th de ek omidaer  Owiise U anslly,
%o doy pd Ay 64-—-24# Q@ufl;;

Bl M&A md}\v&r point
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30 What would happen, if all the oxygen present in the environment is converted to ozone?

@, uﬁmmﬁm@mﬂmaﬁaﬁmﬂa&aﬁammwm
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